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Instructions :
W First 15 minutes are allotted for examinees to read this question paper.
iy  All questions are compulsory.
(i) There are two parts of this question paper.
(_ ¥ —_ i { . Y.
i) In Part A there are 20 uestions of multiple choice of 20 marks. The answer of
these questions are to be given o OMR Sheet
() Do not cross the answer of these ; o
use eraser or whiteney oy thye .‘1‘}::?:1’". wrions on giuer, OMR Sheet and also @0 not
n( ] f — & i+ s Bl
Ut) n Part B ther are §hor Unster ‘.‘J’ﬂ(‘ or illustrative quesrions ,[,f 50 marks
(viiy There are five questions iy Py B '
(viti} In the !Jrg:':ming of cach qyea; ) C
parts of it are to be “”“fnﬂ:: ::’d-l's!mn, it has been clearly mentioned thqt how many
(k) Marks allotted to ach Testion qre mentioned against it
(=) ‘S{&ﬁ from the first Tuestion ane g “ st
time on the questjo, YU canpe, Hu[::,:} Up to the last question. Do noy waste your
822 (DY)
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P‘""‘A

yultiple Choice Questions :

The distance between the Points p(g

https://www.upboardonline.com

» =~ 8) and @10, v) is 10 units. The value of y

will be :
1
(A) -3,9 -
2. Inthe decimal e ;
2 mal expansion of the numpey _g_g the number of digits will be : 1
QO
(A One (BY Two (C) Three (D) Four
3. If1.CMof 26, 156 is 156, then the value of HCF will be : 1
(Al 156 B) 26 (©) 13 (D) 6 '
1. The largest number which divides 245 and 1037, leaving remainder 5 in each
case, will be : 1
(A) 22 (B) 23 (C). 24 (D) 25
5. Ifone root of the equation 2¢2 + ax + 6 = 0 is 2, then the value of ‘@’ will be : 1
- T 7
(A) 7 (B) = - -
) 2 © 5 (Dy -7
6.  If the sum and difference of two numbers are 8 and 2 respectively, the numbers
will be : 1
(A) 6.2 (B) 5,3 (C) 7,1 (D 1,2
7. The roots of equation 4x2 - 12x + 9 = 0 will be : 1
(A) Real and unequal (By Not real
(C) Real and equal (D) Zero
8.  Distance between two points (2, 8) and (4, 1) w.ill be : 1
(A) 2 (B) 23 (C) 242 ) 3
1
. 2 _9v 4 b o= N he -
9. The discriminant of the equation 3x% - 2 + 3 0, will be : 1
(A) 3 (B) 2 €1 (D 0
7



10.

11.

In the g'i n figure DE IS drawn parallel to base BC of a trinnf.:lv ABC.
‘ IT‘ :. ’ o . : T
IfDB=7 ;P ::l.‘ -8 ¢m E(‘ =54 cm, then the value of AD will be :

=7-2cm, AL = Ut .

A

B C
(A) 2cm (B) 2’1 em (C) 24 cm (D) 2:5 em
Heights of two similar triangles are 3 ¢m and 4 c¢m respectively. Ratio of the areas

of the triangles will be :

(A% 9:16 (B) 27:16 (C) 16:81 (D) 4:9
12.  In the figure, the area of sector OAB will be :
A
30°
0< 'B
€ 4 cm >
(A) 4 cm? By 419em2  (Q) 4-91'01112 (D) 5em?2
13. The value of 2 tan? 45° + ¢og2 300 _ sin2 60° will be :
(A) 1 (B) 2 (Cy 2 (D) None of these
14.  The value of cos? 67° - gin2 230 will be -
(A) o (B) -] Gy 0 (D) 1
15. Inatriangle ABC, / C = yg° 1
‘ and tan 4 = 5 The value of the following wil] be -
8in A cos B + cos A sip I
&) 0 @) L "
: 7 (C) 1 D) V2
822 (DY) 8
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The mean of the fo]]q

Class Interyal

[ . M

quuenrv
| fuenc

— ]

0-10

10 - 20

—

(C) 25 (D) 254

If the circumference of a circle ig equal to the perimeter of a square, the ratio of
their areas will be :

(A) 22:7 (D) 11: 14

(B) 14:11 (C) 7:922

A rectangular sheet of paper 40 ¢cm x 22 em is rolled to form a hollow cylinder of
height 40 cm. The radius of the cylinder will be :

(Al 3-5cm (B) 7cm (C) %qcm (D) None of these

The median class of the following table will be :

Class Interval | Frequency

0-10

7

10 - 20

)

20 - 30

16

30-40 12

40 - 50 2

(Cy 20-30 (D) 30 -40

(A) 0-10 (B) 10-20

tion are 24'5 and 26 respectively, then its mode

20,

If mean and median of 8 distribu

will be :
(Cy 29
9

(D) 30

(A) (B) 27

822 (DY)

25 PT.0.
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Part_p

21. Do all the parts:

(a)

(b)

(di

(e)

(f)

Without doing the actual long divigjon process, find if the expansion of g
jthou

R

7280
decimal. Give reasons for your answer,

tional number is a terminating or non-terminating repeating
rationa

If sin 3A = cos (A - 26), where 34 is an acute angle, find the value of A,

The radius of base of a cone is 3:5 em and height is 12 cm. Find the slant

height of the cone.
If the arithmetic mean of the followiug frequency distribution is 215, find

the value of p.
x 5 | 16| 25 | 35 | 45
' P13 e |2

Find the ratio in which the point (- 1, 6) divides the line segement joining
the points (- 3, 10) and (6, - 8). https://www.upboardonline.com

Find the relation between x and y if the point (x, y) is equidistant from the
points (3, 6) and (- 3, 4).

22. Do any five parts :

(ay

(bs

(ck

(da

822 (DY)

Find the discriminant of the quadratic equation 2x2 - 4x + 3 = 0 and then
find the nature of the roots,

The sum of the square of two consecutive positive even numbers (integers)
is 340. Find the numbers,

Construct A ABC, in which BC =6 cm, AB = 4'5 cm and 2 ABC = 60°. Then

construct ; VP oy \ 3 . . ‘
mstruct another riangle whoge sides are n times the corresponding sides

U! 4'1 A_B(_,I,

The ¢ sle of e .

o :I:[‘., ‘I;.f depression of the two ships from the top of a lighthouse are 30°
53 Ol .'-.I'ij s exact] . .

. ! . 2 t, 3 a

lighthousc 4y |, actly behind the other on the same side of the

re 50 Metres g .
- : *S apart from each other, find th the
IlghthUUhl’ fr“lll th.' sey Il'V(:l p € helght Of

10
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(¢)  Find the arithmetic mean from the following table :

- Marks Obtained | Number of Students l
Less than 5 3 |
L - {
Less than 10 10
LQSS_IEI] 15. _ L__.*____2P____‘_
Less than 20 l 49
Less than 25 65 = A
Less than 30 | 74 i
" Less than 35 : 78 ]
Less than 40 : 80 1
(l Find the median from following frequency distribution : 4
Class Interval i Frequency JI
~ |
10 - 25 | 3 |
25-40 10 |
40 - 55 20
55-170 13
i 70 - 85 | 4
23. Solve the following equation : 6
2x-1) [x+3 1
| =3 =5 x#-3, =
2(“3; 21 2
OR
The sum of a two-digit number and the number obtained by reversing the order of
its digits is 66, If the difference of the two digits is 2, find the number. 6
24, From the top of a building 60 metres high, the angles of depression of the top and
bottom of a tower are ohserved to b& 30° and 60° respectively. Find the height of
the tower. 6
OR
A bird is sitting on a 80 m high tree. The angle of elevation of the bird is 45° from
- a point on the ground. The bird now flies horizontally such that its height from
the ground remains same. After 2 seconds the angle of elevation of the bird from
the same point becomes 30°. Find the speed of the flying bird. (Use y3 = 1-732) 6
822 (DY) 11 P.T.O.

https://www.upboardonline.com



822 (DY)

i

s 10 : .
25/ A metallic solid sphere of radi 05 em s melted and recasted into smaller
solid cones, each of radius 33 €M and height 3 om, Thus, how many such cones

will be made ?

OR

A copper rod of diameter I cm and 8 em length is stretched to form a wire of
uniform thickness with length 18 m. Find the thickness of the wire.

12
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